MAZ205 - Integral Calculus
Lesson 8: The Fundamental Theorem of Calculus II
Board Problems

Find the most general antiderivative of the function:

. - N - i
L f(z) =3sinx FhO = B(~tosx)+¢ = = Stosx + &
' ‘ - IS P, o

W

] /ﬂ\f:' 19y 2 —_—
2. f(z) = 6z + 1222 ;(,@ 2 X, R = 3203 e
"' AN S e SPR—— P A, ﬁ‘.‘_«,"mj/'

. t o — b B -
3. f(t) = 2" + 3sint "*"H;?) = 2ot ”/j‘ﬁ' +(

4. g(z) =2+ 6cosx é(;} = 20~ f?x: § + LSiax +

= (3 50) H‘{@; = 100 for égé CJ@ + <’:’

6. f(y) =10y + 15co8(y) +sin(t) —/ ~ _ oo /2 |
N 7

7. f(z) = —1/3 N /: + ’} e ¢

T v = 2
Z/g “‘”‘ — ~w«‘f}v@,@
Compute the following definite integrals, using the Fundamcn’ral Theorem of Calculus, Part 2.
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